
ACES/FE Example

• Unit Output = 500 MW

• Average RT LMP = $40/MWh.

• Current penalty would be $24,000

Penalty Condition IMM/PJM Identified Self Identified

1. (Unit Cleared DA or Ran RT) and (Was Marginal or Received

Make Whole Payment or Offered above $1,000/MWh)
$24,000 $4,800

2. Unit Failed Local TPS Test or Offered above $1,000/MWh
$24,000 $4,800

3. If 1 and 2 do not apply, 1st offense of the year, and no impact to market $2,500 $2,500

http://www.pjm.com/
http://www.pjm.com/
http://www.pjm.com/

